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Proving Triangles Congruent “

1. Side-Side-Side Triangle Congruency (5SS)
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3. Angle-Side-Angle Triangle Congruency (ASA)
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Are the triangles congruent by ASA? Why or why not?
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4, Angle—AngIe—Side Triangle Congruency (AAS)
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Are the triangles congruent by AAS? Why or why not?
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Methods that DO NOT prove Triangles to be Congruent
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Why does AAA not guarantee congruent triangles? Why do\es ASS not guarantee congruent triangles?
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Examples: Which triangle postulate (if any) shows that the triangles are congruent?
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Justifying Congruent Triangles Using Constructions:
1. On the line, construct and Label ADEF sg that ADEF = A4PH ysing the SAS congruency postulate.
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2. On the line, construct and Label ADEF so that ADEF = AAPH ysing the 555 congruency postulate.
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Justifying Congruent Triangles Using Rigid Motions:

1. Use Rigid Motions to Prove: A4RP = AHTP

Step 1: Action: (Specifically describe the Rigid Motion)
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2. Use Rigid Motions To Prove: ACAT = ADOG
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